2.7-12 You are varnishing the background for a mural shaped like a right triangle. The base of the mural
is 3 meters and the height of the mural is 15 meters. How many cans of varnish will you need if
each can covers 10 square meters?

®A. 9 cans of varnish
()B. 23 cans of varnish
(OC. 5 cans of varnish

{JD. 3 cans of varnish
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2.7-16 On a road trip, five friends drove a0 miles per hour to California. On the way home, they took the
same route but drove70 miles per hour. How many miles did they drive on the way to California if t
round trip took 10 hours? Round to the nearest tenth of a mile if necessary.

(JA. 323.1miles

()B. 3.4 miles

(C. 646.2miles

{JD. 4,200miles —
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2.7-22 Ken and Kara are 29 miles apart on a calm lake paddling toward each other. Ken paddles at 4 miles
per hour, while Kara paddles at 7 miles per hour. How long will it take them to meet?
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2.7-23 At 1 P.M. a freight train leaves Chicago traveling at 40 miles per hour. At 5 P.M., a passenger train
leaves the same station traveling in the same direction at 60 miles per hour. How long will it take
the passenger train to overtake the freight train?

(JA. 1hours
()B. 16 hours
®C. 8 hours
{JD. 4 hours
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2.7-24

pores”

A freight train leaves a station traveling at 32 km/h. Two hours later, a passenger train leaves the
same station traveling in the same direction at 52 km/h. How long does it takes the passenger train

to catch up to the freight train?

i 1A, 2.2 hours
’:;:;? B. 3.2 hOllI'S
"1C. 4.2 hours

D, 5.2 hours
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